Flow = 176.1 usgpm
In Temperature = S9,00 F

Composition Mass % =
water=100.0%

Flow = 11.3 usgpm

In Temperature = 81,49 F

Composition Mass % =
acetone=81,1%
water=18.,9%

Flow = 187.2 usgpm

In Temperature = 59,40 F

Composition Mass 9% =
acetone=4,09
water=96,09%

;E Temperature Change = 3 F

This may not look it
but..... This is a difficult
problem to solve with
heat transfer and
mixing in a recycle line.

Flow= 187.2 usgpm

In Temperature = 62,40 F

Composition Mass 9% =
acetone=4,09%
water=96,0%

Flow = 9.8 usgpm

In Temperature = 122,00 F

Composition Mass % =
acetone=100,0%

By selectively
showing results on
the flowsheet you
can communicate
your design
without pages of
tables

Flow = 1.8 usgpm

In Temperature = 62,40 F

Composition Mass 9% =
acetone=4.,0%
water=96,09

Flow = 92,7 usgpm

In Temperature = 62,40 F

Composition Mass 9% =
acetone=4,09%
water=96,0%

Flow = 92,7 usgpm

In Temperature = 62,40 F

Composition Mass 9% =
acetone=4,0%

g water=96,09%
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